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y = Sinbx y= Sin(x - h) Describe any phase shift and vertical shift. Sq
vert sheedh = AT mdling
b affects the period h affects the horizontal position. y = _8C03(3 (x + l)) =S e tg//’S
(horiz stretch or shrink) (horiz translation left or right) 7” 6 Phase
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How do you write an equation that has both

abandanh? ’\D—C\/Wé = D—';T

y = Sin(b(x-h))



Write the equation of each function.

Parent function: Cosx Phase Shift: 37" right Period = 21
Vertical Stretch factor of 7 9

Y= 1Ces (¥ -4)

Parent function: Sinx Phase Shift: % left Period = 81

AT
Graph is upside-down lQ—‘“ == ‘

f’
F= (L) i

y = aSin(b(x-h)) + k
y = aCos(b(x-h)) + k

a—— Amplitude - Vert strecth or shrink

b —— Leads to the Period = 21m/b - Horiz stretch or shrink

h—— Phase Shift - Horiz translation - gives the "new" starting point

k—— Equation of the Midline - Vert translation

State the period and the phase shift each equation represents.

y = —128in(3(x + %)) y = 8COs(4x — 37)

b(x—h)
Period = i Period = ,%]— — 121‘
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- Phase shift. O (W1
Phase Shift T%r Lot = O

Write the equation of this graph as a Cosine Function:

s . Amplitude= 3 B
y x5 (2£,5)
. . Period = n/2 L
Midline: y=)92 -
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Equation: ‘




